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THREE YEAR B.A./B.Com.(General/Computer Application/Taxation and .
Tax Procedure) DEGREE EXAMINATION, MARCH/APRIL - 2023
CHOICE BASED CREDIT SYSTEM
THIRD SEMESTER
PART - 11 : ACCOUNTANCY
PAPER - 3A : ADVANCED ACCOUNTING

(Under CBCS New Regulation w.e.f. the academic year 2021-22)
Time : 3 Hours Max. Marks : 75

SECTION -A
QereiSn .~

Answer any FIVE of the following questions. Each qliestion carries equal marks.(55<3=15)
Bod Eﬁ-@e}é‘ P D HHOH Vrgraren rcdod. B8 BHS Soetien HooSasm.

. 1. Write self - balancing adjusting entries.
a.  Credit purchases.

b.  Purchase returns. :

c. Cashreceived from debtors.

o BEFRES eSos® Bob SSiForoD D Hgen EPabol
2. o5 TOPK) ' '

b. ESoFfen FSden. .
c. eweige o SO Jsed.

2. Find out profit from the following data.

Rs.
Capital at the beginning of the year 8,00,000
Drawings during the year ' 1,70,000
Capital at the end of the year 12,00,000
- Capital introduced during the year - 50,000
BIHS HSrPEED oD ergiini Bé&oéo&. ‘
BosHybo [Frsogod® drolito 8,00,000
BosEsos® Rrodariere 1,70,000
b0yl wodot® Swelido - 12,00,000
. poslyBsne® BBELES e drerso 50,000
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Prepare sales Ledger adjustment account in the General Ledger
Opening Debtors Rs. 10,000; Credit sales Rs. 30,000; Cash received from debtops

Rs. 6.000: Bills receivable received Rs. 5,000; Bills receivable dishonour Rs, 1,000
& grERD St Schold, ‘

Fedee ©S oiysee BIP K e
amea!ﬁ@e» . 10,000; &5 eyseen &r.30,000; mcsr«i(‘:{l;o 508 &x58005 g
&e. 6,000; Simen Degen &, 5,000; S5Koeen Bepen e° &e. 1,000. e

‘oo
L]

4. From the following find credit purchases
Opening Creditors Rs. 8,000; Cash paid to creditors Rs. 14,000; Bills payable accepteq
Rs. 9,000; Closing creditors Rs. 15,000. _

808 8 Hod ot FHRED B8oSol.
aneareden &r. 8,000; awerrded IYoIS Jid . 14,000, eofitons

Sogs
%)Qo@ Deyen &e. 9,000; Swho) ewescrden 15,000.

5.  What are the different types of donations?
QDL BsPe) DTERD.

6.  Write short note o}x Receipts and payments account.
Sdren BoHe FrErd HBoD E..wdé:o&

7. P, Q and R are partners sharing profits and losses equally. They agreed to admit Sasgw‘

partner by giving 1/5® share in future profits. Calculate sacrificing ratio. '

P, Q 58050 R ergfisos Srsore SoHEs grrdniive. $2:5S ogros® 155308
e agEo TR E°8 KRN S D FNESerds T eohiStoTh. ayto TN

B80S0l

8. Whatis gaining ratio?
4 D58

9. GamerVs Murray Case.
b Vs :ﬁ»@ 86{) favtatela) Lvdﬁao&

10. P and Q were in partnership and agreed to dissolve. The assets realised Rs. 95,000. The
Liabilities were as follows : - Sundry Creditors Rs. 55,000, Loan from A Rs. 200004 .
Capital Rs. 10,000, and B’s Capital Rs. 15,000. They share profits and losses in proportio?
of A : 3/4 and B: 1/4. Prepare Realisation account.

P 58050 Q ePKAmi06® griiigen Bt 88 BaHre0s wohLBoTd. 6

8. 96,000 STpow. ertises & Bod 8)450?\? 5
| D awecrses B, 56,000, Aol s &». 20,000, A dg Srerso & 10.000

S8 B G SuvexsiSo &r, 15,000, a6 A : 3/4 580k B: 1/4:).1}35‘0-9@@”‘
| Bipoid SoHboerd. S0IPH wmevh Mo Savod. - | '
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SECTION-B
Do - &

Answer any FIVE from the following. Each question carries equal marks. ~ (5%12=60)

T 0ohH BHhe DSrmrdsven [Frcioidn. (B8 [HEHH drdyen JeSD.

11.  From the following particulars, prepare the debtors ledger adjustment A/c as it would appear
in the general ledger for the year ended 31.12.2020.
Particulars Rs.
Cash sales 1,50,000
Credit purchases 53,60,000
Returns inwards 21,000
Bills Receivables dishonoured 5,000 -
Bills receivables drawn 40,000
Collections from Debtors 10,20,000
Payments to creditors 5,25,000
Discount allowed by creditors 5,000
Discount received , 10,000
Debtors cheques returned dishonoured 15,000
Cash purchases 1,45,000
Credit sales 10,56,000
Bill payable paid 15,000
Bills receivables collected 25,000
Bad debts recovered 3,000
Returns outwards 7,900
Bills payable accepted. 35,000.
Bad debts . 5,000
Transfer from purchase ledger 20,000
Opening balance of sundry debtors 1,60,000
Opening balance of sundry creditors 1,70,000

1-3-101-R20 S
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téo& BN eulV)
mm@ma @éw’ EVds i Lisugey

Ddoven

Sich wiysten

©HY SR

EoRen arSken

Soeen Hepe OTPEBER
©oh%BoDS Sdren Hepen
22069 Eﬂ@p o) Sew
2es TR IO

B &S

SNS &Jd

20089 Lﬁ@o B TBBes
IKD SHoften

(TSP @éoé@en

BYoDS BOoy Deyen
SIS Sdeen Aepen
550885 o0 wrfen

Foffen Tedoen
©oA%B0O% BYoDH Deven
oD eren

o e Dod 26
aes (e eXite | Zrsog dex
awes TP GNP @*’éoai.t{g) Qdex

20

“o8 31.12.2020 & é:aﬂcoa’) KOBHTN 3"5“653 eSpst é‘%oa %

E»,
1,50,900
5,60,000

21,000
5,000
40,000
10,20,000
5,25,000
5,000
10,000
15,000
1,45,000
10,56,000
15,000,
25,000 -
3,000
7,900
35,000
5,000
20,000
1,60,000 &
1,70,000




12. Prepare Creditors Ledger Adjustment A/e, Debtors [edger Adjustment A/c and General

ledger Adjustment A/c,

Rs.
Debtors Balance in General Ledger Adjustment A/e (Cr.) 55,000
Creditors Balance in General Ledger Adjustment A/c (Dr.) 36,000
Total sales 54,800
Cash Salcs 12,800
Total Purchases 42,600
Cash purchases 16,500
Received through Bank From Debtors 48,000
Discount allowed to the business 250
Discount allowed by the business : 450
Returns by customers _ 1,300
Returns to suppliers . 800
Accepted bills payable - _ 3,200
Accepted bills receivable , _ : 4,800
Bills Receivable dishonored ' _ 200
Interest charges on dishonored bills ' 35
Trade discount ' 750
Bad debts 375
Cash paid to creditors - 32,500
FrSes eaéogé‘ ees|fSe e SoBA woetrde ST S BHol.
‘ B,
et eSps® Seren grars” aneiitpe et e (Cr) 55,000
FTPSE GBS grees® ames S X gree Jey (Dr) 36,000
Ao eysten 54,800
S8 edyseen - 12,800
o DA | 42,600
B SR | ) 16,500
aea(ie ool erg08 e 905550!‘530&05 48,000
P08 &8 HHBoBolob 250
FEPS0 TXoe BI06 oddH8osebod ‘ ‘ 450
PTIPHO DS DD - 1,300
PPBTPHO SN 800
sIrBoS0dsd BhoD Degen 3,200
sArBosads Hdwen Hegen ‘ 4,800
Simen Hegen LB ' 200
Sioren Dege RPBEED 54 ‘ 35
HBED &.ﬂvpts e 760
PR DEPQDED , g 376
aoerded BROY - 32,500
1-3-101-R20 | (5)
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13. Distinguish between single entry system and double entry system.
2of B ITHIDIE A wos WD IFLIIS B Ko o
14.  Vijay keeps his books on single entry basis. Prepare a statement of a affairs as on 1.01 202}
and a statement of profit (or) loss for the period ending 31 12.2021.
Assets and liabilities 1.01.2021(Rs.) 31.12.2021 (Rs.)
Bank 2.750 1.975
Cash on hand 790 430
Debtors 39.500 59.500
Creditors 29.625 34.500
Stock 49,375 44 400
QOutstanding Expenses 2.950 3.950
Prepaid Expenses 750 4.800 |
Bills receivables 3.950 9.380
Bills pavabies 5.925 7.900
Furmniture ' 980 1.450
Plant and machinery 9.875 11.850
Vijay had withdraw Rs. 15 Ooomm_me\mrandhadmuodmedﬁahmpnalofki 5.000
on 1.7.2021. A provision of 3% on debtors is necessary. Write off depreciation on plant at
10% and furniture at 15%.
@“mmma@mgmw&%m g Jafo .;Baéa‘n&cﬁns’géﬁwu
SSEES 1.01.2021 508 31122021 & Sc53chod
jsshen HBAn eFHen 1.01.2021 (8=.) 31.12.2021 (&».)
oo 2,750 1.975
RS - _ 790 150
ey Soen 39,500 59,500
—— 29,625 34,500
Ser=s) 49,375 44 400
BDOSSONDS e 2,950 3,950
S0t BDoDS e 750 4,800
|55ren Depen 3,950 9,380
3003y Sepen 5,925 7,900
[5es5 ’ 980 1,450 |
FolS Spba chopre 9,875 11,850
Dexdn . 15.0mmﬁ»oémw@mmm:mo&o%
&r. 5,000 1.7.2021 5 @38aeps. 2 o0 oo 560 5% donen DD,
Sordtso S6H choEro 10% S0 15% SATD.
1-3-101-R20 C(6)




15. From the Receipt and Payment Account given below, prepare the Income and Expenditure
Account of Clean Delhi Club for the year ended March 31, 2017.

Receipts and Payments account for the ending 31* March, 2017

Bots medis i KBk

&S 86 ) SIPASH HBAky Kb grerH Rgo Bchol.
Receipts ' Amount.(Rs.)

To Balance b/d 3200

To Subscriptions 22,500

ToEntry fee 1,250

To Donations 2,500

To Rent of Hall 750

To Sales of investmehté 3,000

1-3-101-R20

33200

™

BROY gre° Hol Hrhy 31, 2017 & LA SosH8 AS

Payments Amount (Rs.)
By Salary 1,500
By Rent 800
By Electricity 3,500
By Taxes 1,700
By Printing and stationery 380
By Sundry expenées 920
By Books purchased 7500
By Government bonds purchased 10,000
By Fixed deposits with banks 5,000
By Balance c/d

Cashinhand 400

Cashatbank 1,500




Adjustments :

a)  Outstanding taxes as on 31* March, 2017 amounted to Rs. 100,

b)  Half of the entry fce to be capitalized.

¢) . Book value of investments Rs. 3,400

£8) 81, 2017. ordh Koire FFEE, SAFEHBEHOE. :
Receipts Amount(Rs.) Payments Amount(Rs.)
To 8% dex 320  Bydeew 1,500
To Sowren 250  Byeg : 800
To 5355 Soiosio 1,250 Byvg)ébég 8 3,500
To Soveren 250 By sisyes ' L0
To Fen @3 70 By gw@m 6 8 30
To Bigathe esyso 30 Bydos sdyes - 9
By $sre &:RPen o 1007
By ébdy aro Sorfey 10000
By 3%)F &arasey (31.03.2017) 5000
By 88y% dex
3BS* K% 400
a?,goénés S5 1,560 . 1900

1-3-101-R20




od$H Ssrerdo:
Q) 31 o)), 2017 & BPoSHeRS Bipen &r. 100.
Q) @38 Bxosns® B grrio SredEdomed.
D) Degehe HREDH Dend &, 3,400.
16. Pmcedl;re for Registration of Non - Profit organization.

TIBES S0 I PRS- DSBOSOL.

17. A and B share their profits in the ratio of 13:7 their balance sheet as on 31.12.2008.

Liabilities Rs. Assets | . Rs.
Creditors _ 6,000 Cash 2,000
Bills payable | 4,000  Debtors 5,000
Bank over draft s;ooo ~ Bills re'ceiyables 5,000
Capital ' | Stock 6,006
A . 40,000 ‘ ~ Plantand mact{inery 13,000
B 20,000 60,000  Funiture 4,000

Land and buildin; 40,000

- 1-3-101-R20 . L))
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From the above data they decide to admit C on the §ollowing terms .

He is given 1/5* share and he has to bring Ks. 10.000) 25 capital and Ry, S0 ¢, 2o

will

a)

b)  Reserve for bad debts to be made on debtors at 2%,
c)  The value of the stk is reduced by 1074,
d)  Theland and huilding is appreciated by 20/7.

e)  Plantand Machinery is revalued at Rs. 12,500, Prepare pasiners capital accounts a4

balance sheet.

A Sbcm B o of diguis 157 UL att oF Lol Lottt e,

31-12-2008% & o, sie ) wor Gl

®3peo &». el .

Com o 6,000 S 2,000

B0 ey | 4,000 s , 5,000

ot L5575 5,000 e e 5,000

Sretioes 477 6,000

A 40,000 , oAren 13,000

B 20,000 60,000 B 4,000
iy Db ghmren 4(?,000

1-3-101-R20 (10)
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18. The balance sheet of AB and C who were sharing profits in the ratio of 3:2:1, their balance
sheet as follows on 31% December 2021,

Liabilities Rs. Assets Rs.

Sundry creditors 43,600 Cash at Bank 11.000
Capital accounts Sundry dclj;u{rs 10.000

A ’ 1,00.000 Less : provision 400 9.600

B 60,000 Stock 16.000

C ‘ 40,000 Machinery 87.000

LLand and l.iuilding,s 1,20,000 |
2,43,600 2,43,600
1-3-101-R20 (1 [PT.O.]




1 decides (o retire on the date and A and C agree to make the following axjj;mmm“”“%
assets and linbilities

A Rs 150006 10 be carried forsward as | Inexpected Insurance,

¢ ‘ d e (49,
That the land and buildings he appreciated by 20%,

—
~r

¢ Isdecided o provide provision for Doubtful debts be hrought up 16 7%,

& s decided to ereate provision of Rs. 4,000 be made in respect of an outstanding bify
for repairs.
. That the goodwill of the entire firm be fixed at Rs. 24,000 and 1’5 share of the same

be adjusted into the accounts of A and C.

Show necessary ledger accounts and also prepare new balance sheet of the firm,
31.12.2021 griidedine Suewlid graee by Wy Wi :}%'J bS5 sl 34
e Sapoid 3:2:1 DGHHS Hobhbhutr.
®))e0 8 o8y .

2EITTOH LD 43,600 arsoth SIS 11,000
Lveldd graren mmﬁﬁ@w 10,000

A , 1,00,000 Less : ayomdn 400 9,600
B 60,000 S5 16,000
c - ‘ 40,000  diojgren 87,000
&l SoBn gSaren 1,20,000
3 ) 2,43,600 - 2,43“

2885 B grridegsyy 101 00 HZpomred DEomomrth. A8 C (Bod “geris o

o $6 Sairts BHTIE BB,

D) &r. 15,000 eiirn Hiri Hooms.
5)  wimwe Densi 20% it DowD:
) ameide 78 TN 7v°1/a ™ GotrD.

&) HSHEe FE6 Gr. 4,000 domkn e,

a) D0 HEDS & 67 24,000 e DEPD, DEWOTE B grRn e A FRiRe
- (ABBE () el Sgeres Batred Déuwomt.

GSOES B groven LBk b of oo 40 dartBahol.

1-3-101-R20 - (12)
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19. Sushil, Sumit sharing profit and loss in the ratio of 3/5 and 2/5 their balance sheet as on
31-3-2005 as l'ollows. They decided to dissolve the firm

Ksé) 6(3) wOD“P.)cv

285 B WS 3/5 HBkH 2/5 z)é)@éf’ ergren S0 m%@w H0HE"S qw’ Ko

31 &8y, 2005 S % S &R @Q}QJ
Séo»odaé)aaéa

The Assets realised as followS :

& @o& DGore Gob. P8 O

Stock Rs. 28,000, Plant and Machinery Rs. 24.000 and cht()rs Rs. 40. OOO The sundry
creditors were paid Rs. 18,000 in full settlement.

Prepare : Realisation Account, Partnérs Capital Accounts and Bank Account.

Liabilities

- Sushil’s

Sumit’s Capital
General Reserve
Sumit’s Loan A/c

Sundry creditors

285 Sresdo
8 Srerdo
avz;réw Baxtiy -
D& oY)

2o0eatréen

1-3-101-R20

Balance sheet as on 31* March, 2005

Rs. Assets
40,000 Plant and Machinery
36,000 Stock
10,000  Sundry debtors

4,000 Bank
20,000
1,10,000
&) VK éé 3lsqt o8y 2005

8. eSyen
40,000 dﬁaotat’en
36,000 LB
10,000 amca[i@e»

4,000  @%0% KK

20,000 |

P ]

1,10,000
(13)

30.000
30.000
44.000

6.000

1,10,000

S,
30,000 .
30,000
44,000

6.000

1,10,000

[P.T.O0.]
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DOBgEEe, gy HPerS gracen, B%oH e SaRHEAHo’. wnen & 806
Dore SKeBH. \

S Sn. 28,000, oty $008 dbofares G, 24,000, sveafiien Gm. 40,000, o5
astrden o HBRBO Bods & 18,000 BT, |

20.  Arun and Seema are equal partners in a firm. They decided to dissolve the partnership op
December 31. 2014 when the balance sheet stood as under :

Liabilities Amount (Rs.) Assets Amount (Rs.)
Sundry creditors 74,000 Cash at Bank 22,000
Reserve fund 20,000 Sundry debtors 24,000
Loan | 80.000 Stock 84,000
Capital : Furniture | 50,000
Arun 1,20,000 . Plant ' 94,000
Seema 1,20,000 - | 2,46,000 Leasehold land 1.40.000
S, $5> 2.8 $o4E® 5 grREven. 2014 &2006 31 % of oo 58 & Morr
&00. wﬁafsé:@&)& 66533@5?053 RV To)) Sgoaooaﬂéa 4 '
edpen '_ Amount (Rs_.) s - Amount (Rs.)
eaw;eaméen : 74,000 | ’ oo 22,000
Beatiy B : 20,000 ° amealii@e» 24,000
&5 ‘ 80,000 JHH 84,000
oo 9856 50,000
] 1,20,000 - Fols 94,000
;%:n‘ : 1,20,000. 2,40,000  xehS s 1,40,000
4,714,000 , * 4,14,000
- 1-3-101-R20
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Assets were realised as follows

Rs.
Leaschold land 1,44,000
Fumiture 45,000
Stock | 81,000
Plant 96,000
Sundry debtors 21,000

The creditors were paid Rs. 51,000 in full settlement. Expenses of realisation amounted to
Rs. 6,000. Prepare Realisation account.

ofen o : 8w,
AN wBeoen 1,44,000
$0)36 45,000
S | 81,000
Yot 96,000
D awesfipen . 21,000

aeTrdo &r. 78 DBSHoBE® 51,000, SEIBH B)en &r. 6,000,
LB T Bigo BaHod.

1-3-101-R20 : (13)
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THREE YEAR B.Com.(General/Computer Application/Taxation and
Tax Procedure) DEGREE EXAMINATION, MARCH/APRIL - 2023

CHOICE BASED CREDIT SYSTEM
THIRD SEMESTER
PART - 1I
PAPER - 3B : BUSINESS STATISTICS
(Under CBCS New Regulation w.e.f. the academic year 2021-22)

Time : 3 Hours Max. Marks : 75
| SECTION -A
, Jgrisy -

Answer any FIVE of the following questions. : (5%3=15)

1.  Explain briefly limitations of statistics.
fala~llel] 60@ DBeHen DBBoBOA.

2. Writea short note on classification of data.
SEr0¥ $E88e0 o DB00508.

3. In a recent Study on Strikes in companies, a researcher collected the following data.
Represent the same using Simple Bar Diagram. '

Eowdes® Sayep 2850 ©geHBoe’, 2.8 Ho8EHE Bobd Seroddndd DEBoT .
(BolS 355@aS S8vodsnH aS@DrAD Feeden 2 Her) SrHod.

Reasons for strike | Economic | Personnel | Political | Rivalry Others
[ seBeren @9556@_3:6 Qb oo | OFeen SS%en

Occurrences 58 16 10 6 10

{(In Percentages) ‘

Sogpeosen (zoaE’)

4. Explain correlation with suitable examples.

8% errsrtmuB® SiFtoporRY Di0OK08.

2-3-101-R20 [ L [ETO.




10.

11.

12.

Calculate correlation coefficient using Concurrent Deviation method.
A Dowol HEstEnD dibomre Hegmd eaddrhod B&oiod.

X | 32 160 80 90 100 | 120
Y | 62 60 70 80 110 | 140

Comment on the data given below by stating the reason: (State whether the data is right or
wrong along with the reasons) AM =4.5, GM=4.192 and HM = 4.02.

& BIOY BEro¥sy FBKE® =o6° =6mos® Beyol.
AM =4.5,GM =4.192 $56cio HM =4.02
Give a short note on Dispersion.

IR )8 (Dispersion) DSBoSos.

The mean weight of 120 students of B.Com: class is 52 kgs. The mean weight of boys is
55 kgs and that of girls is 45kgs. Find the number of boys and girls.

B. Com S5K88 TobI 120 ood S.)w‘;géw Jisen 25 52 86Pen. &S o), coﬁé:na)d)é
55 8&%en 8D esa’asvéonm 45 &&%ex. wer)ae, oS Soggd EHFPSod.

. Explam Rank Correlatlon

§5é5<oa’s°cooaoo€50 - DHBOB0R.
Explain Fishers ideal Index.
28) 65 19 DBBoSOE.

SECTION-B
Jgredn - O
Answer any FIVE of the following questions. Each question carries Equal marks.
(5x12=60)
Locate Median by Cumulative Frequency Curves on a Graph Paper.
B008 Ky Bad Ad Hrssnd (Median) 858504,
Income 0-10 10-20 | 20-30 |.30-40 | 40-50 | 50-60 | 60-70
a0 _
No.of Persons |20 25 30 35 30 24 11
o |
Locate Mode by drawing Histogramon a Graph Paper.
& BI165 BEoBins® TRFED AD erodEing (Mode) SXFFds.
Class Interval .~10-20 |20-30 | 30-40 | 40-50 | 50-60 | 60-70 70-80
8518 @odbo
Frequency 6 20 40 20 8 4 2
|2r:9%g0

2-3-101-R20
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13. Find the median, mode for the following data.
8 BI0S Bemodin w0l Sitfrain Hea wriorEsn s5Eho8.

Evam 10-20| 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80)
Egen
No.of Students 6 5 8 15 7 6 3
Rogge Sows
14. From the following information calculate mean

BI0S BBP0dHn ol BHKeD BrPsm.

Wages 0-10 | 10-20 [20-30 [ 30-40 | 40-50 [50-60 | 60-70]70-80
ReSToen

Cumulative 4 10 24 50 70 85 95 100
Persons . P

$oDS Lo Boas ?

15. Findthe standard deviation of the following data 7,4, 8, 10, 11. Add 3 to all the values the
find the standard deviation for the new values.

Bod Sero¥sim 7,4,8,10,11 &) Prard8 Do) (Standard Deviation)SoiSold. 7
Dende 3 D £'80D, & D BF DevSeS Frsrds Doy (Standard Deviation) S5/cd.

16. The Consumption of number of guava and orange on a particular week by a family are given

below. ‘

. 2.8 %000 2.8 IPY TBoE® @ HBA FBoe: HITHSD BIVD BBWECS.
No.of Guavas | 3 5 6 4 3 5 4
&°3D D08y |
No.of Oranges | 1 3 7 9 2 6 -2
8oz Hogy .

~ Which fruit is consistently consumed by the family?
éoow0 ?86011‘ D Hotod 8n%otnod?
17. The marks obtained by the students are tabulated below:
. DEmses APHODS e (Bob $656° sirzow:

Marks in Science 19 | 25 14 |9 25 14 122 | 15 | 2%
RS Spew | |
Marks in Mathematics| 30 | 30 11 22 18 22 114 |15 | 1!
KBS Smtiyen

Find the Rank Correlation Coefficient using repeated ranks formula. i
Jiorss vgoe SRy, a5 @eRo T Sdoaos Heeso (Rank correlation) 8800l

' 2-3-101-R20 ' ) [PTO.




18. Calculate Karl Pearson’s Coefficient of Correlation between Advertisement Expendity
and Sales of a firm.

e $0P6™ wiymes SO (HEGNO BBHo Karl Pearson’s $srdonot 19e5°7) 8801/
Advertisement Expenses (‘000 Rs.) | 30 |56 |53 |81 73166 |26 |89 |27} 69
Aﬁmm wy (‘000 Rs.) | |
Sales (Lakhs Rs.) 38 144 |49 [77 ] 53159 |51 |82 |42F75

e lnd (Lakhs Rs.)

19. Compute Price Index Number by using:
i)  Paasche’sand |
ii) Marshal and Edgeworth methods.
DO GBRRALR o #oed) Soggd S

'Commodity ~ Base Year Current Year
3593 egs Sos&)so | [FRE Sos&Bo
Price | Quantity | Price |Quantity
: [~le] | $68me0 | 88 . |S0Srw0
P 5 100 | 6 150
Q 80 5 100
R 60 5 72
S 12 30 9 33

20. From the following data Calculate Index number by simple aggregate method.
(BoB HSEo¥sn S0l FTHSH Ao BB T KDY Vogyd> SOV,

Commodity | Price in 1997Rs. | Price in 1998Rs]
) 55 1997 & &5 1998 &

A 162 171

B 256 164

C 257 . 189

D _ 132 145
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‘ SECTION -A
PeNED - D
| Answer any FIVE of the following questions. Each question carries equal marks.
| | (5x3=15)
T 0 HHOD SErTro [t (58 B S Srtie.
1. Functions of marketing
B)&oh E) Dghen DSB0S0E.
2. Explain Negative Marketing
Negative $r8)&ohs DSBoS0s.
3.  Zero Marketing effects.
* Zero 55085 (Heraron DSBoS0d.
4. Explain Fast Moving Consumer Goods (FMCQG)
g EDoR oS8 KrE)S (FMCG) DBBoSeA.
B.  Explain Extreme Marketing
~ Extreme Marketingso 9%80:508.
.  Explain4D’s
4D e» DHBoSs.
7. Explain Service Brand
Service (grofi DBBoS0R. ‘
2-3-102-R20 (1) . [PTO.




10.

11.

12,

13.

14.

18.

Explain Skimming Policy
{gof Policy® DiboSol.
Online Marketing

DS srtyfioR

Advertising

(SBJen
SECTION-B
DgrilSo - O

Answer any FIVE of the following questions. Each question carries equal marks.
b@ao&@@&%&ﬁogﬁnﬁn@&@é&ém&@p (5x12-68
Explain the importance of marketing. N

Discuss various classifications of marketing.

SeBfiol G :3§§<sm SoSod.

What is market segmentation? What are the levels for effective segmentation?
S5 Dfes’S @08 DIA? HHBHOSDI DgesS TS0 Jpawen HB?

What do you mean by business market and consumer market? Differentiate between busines
market and consumer market.

RS S0 HBAD DIV S8x%5 ©08 Dnd? SRS SBNS 58 DDA
Sr0pS iy BamS HBoSoR. e %

Define new product. Explain why new product is important.
E°8 4880 Dol '8 68)8 ot Sogge ASOoSod.
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16.

17.

18.

19.

What is consumer adoption process ? Explain briefly the types of adoptors.
DTG 535 BB woll DE? e Terod GRorr D560Sol.

The concept f’f product and need for the classification of product.
a$)8 E) PSS DB 8B o) 6@56« ®SoRR) DBBoBOL.

What is product mix? Describe the elements of product mix.
6%)8 dFHo Bl DWB? &8 DiFdo k) womeH DSBoSl.

Explain the factors determining Promotion Mix.
BIES DER MawoS sse Assosol.

What is Publicity? Discuss the advantages and limitations of publicity.
SE0h w0l HDB? Hrbo Tl PEFET HOAD OJHED oS0l




